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2Q�RQH�KDQG��(JH %LUDFÕOÕN�YH�0DOW�6DQD\LL�$QRQLP�ùLUNHWL��³(JH´��UHJLVWHUHG�WR�,]PLU� 7UDGH� 5HJLVWU\�2IILFH� �� %RUQRYD�ZLWK� UHJLVWU\� QXPEHU� ����.����� DQG�*�QH\�%LUDFÕOÕN� YH� 0DOW� 6DQD\LL� $QRQLP� ùLUNHWL� �³*�QH\´�� UHJLVWHUHG� WR� $GDQD� 7UDGH�5HJLVWU\� 2IILFH� ZLWK� UHJLVWU\� QXPEHU� ������ DQG� $QDGROX� %LUDFÕOÕN� 0DOW� YH� *ÕGD�6DQD\LL $QRQLP�ùLUNHWL��³$QDGROX´��UHJLVWHUHG�WR�dXPUD�7UDGH�5HJLVWU\�2IILFH�ZLWK�UHJLVWU\�QXPEHU�������(JH��*�QH\�DQG�$QDGROX�ZLOO�EH�FROOHFWLYHO\�UHIHUUHG�KHUHDIWHU�DV �³7UDQVIHUUHG´�� DQG� RQ� WKH� RWKHU� KDQG�� (UFL\DV� %LUDFÕOÕN� YH� 0DOW� 6DQD\LL�$QRQLP�ùLUNHWL��LW�ZLOO�EH�UHIHUUHG�KHUHDIWHU�EULHIO\�DV��³7UDQVIHUHH´��RU��³(UFL\DV´��GHSHQGLQJ�RQ�WKH�VLWXDWLRQ�KHUHE\���7KLV�DJUHHPHQW�KDV�EHHQ�FRQFOXGHG�DQG�VLJQHG�XQGHU IROORZLQJ�WHUPV�DQG�FRQGLWLRQV���$UWLFOH� �� %RWK� 7UDQVIHUHH� DQG� 7UDQVIHUUHG� FRPSDQLHV� %RDUG� RI� 'LUHFWRUV�� KDV�GHHPHG� LW� DSSURSULDWH� WR� SURSRVH� WR� WKH� 0HHWLQJ� RI� *HQHUDO� $VVHPEO\� RI�6KDUHKROGHUV� DERXW� PHUJLQJ� RI� FRPSDQLHV� RI� 7UDQVIHUUHG� WR� 7UDQVIHUHH� XQGHU�IUDPH�ZRUN�RI� SURYLVLRQV�RI�$UWLFOHV�1R�� ���� ���DQG����RI�&RUSRUDWH�7D[�/DZ�DQG�$UWLFOH 1R������RI� WKH�7XUNLVK�7UDGH�&RGH�XQGHU� IROORZLQJ�WHUPV�DQG�FRQGLWLRQV�E\�WDNLQJ�EXVLQHVV�DFWLYLWLHV�RI�WKH�VXEMHFW�FRPSDQLHV���$UWLFOH��� %DODQFH�VKHHWV�RI�7UDQVIHUUHG�DQG�7UDQVIHUHH�DV�RI����'HFHPEHU������ZLOO EH�VXEMHFW�IRU�WKH�PHUJHU�DQG�XSRQ�WKH�FRPSOHWLRQ�RI�WKH�PHUJH��7UDQVIHUUHG�ZLOO�EH FRQVLGHUHG�DQQXOOHG�ZLWKRXW�OLTXLGDWLRQ���$UWLFOH� �� 7UDQVIHUHH� ZLOO� WUDQVIHU� DOO� DVVHWV� DQG� OLDELOLWLHV� RI� 7UDQVIHUUHG� WR� LWV�EDODQFH� VKHHW�� +RZHYHU�� GXULQJ� WKLV� WUDQVIHU�� SDUWLFLSDWLRQ� RI� 7UDQVIHUUHG� DQG�7UDQVIHUHH�WR HDFK�RWKHU�ZLOO�EH�HOLPLQDWHG��



$UWLFOH� �� $IWHU� UHFRUGLQJ� DQG� UHJLVWUDWLRQ� RI� PHUJH�� WKH� GDWH� RI� SURFODLP��DQQRXQFHPHQW�DQG�ZLWKLQ�OHJDO�WLPH�SHULRG�7UDQVIHUUHG�DQG�7UDQVIHUHH�ZLOO�VXEPLW�WKHLU� UHVSHFWLYH� EDODQFH� VKHHWV� E\� HQFORVLQJ� 3URILW� DQG� /RVV� VWDWHPHQWV� RI�7UDQVIHUUHG�� WRJHWKHU� ZLWK� MRLQWO\� VLJQHG� 7UDQVIHU� 'HFODUDWLRQ� DV� D� UHVXOW� RI� WKH�PHUJH�� WR� 7D[�'HSDUWPHQW�'LUHFWRULHV�ZKHUH�7UDQVIHUUHG� ZLOO� EH� DQQXOOHG�ZLWKRXW�OLTXLGDWLRQ���$UWLFOH��� 7UDQVIHUHH� ZLOO�VXEPLW�DQ�XQGHUWDNLQJ� WR�7D[�'HSDUWPHQW�'LUHFWRULHV�RI�WKH�7UDQVIHUUHG�� LQ� UHVSHFW� WKDW� LW� ZLOO� SD\� DFFUXHG� DQG� GHIHUUHG� WD[� GHEWV� RI� WKH�7UDQVIHUUHG� WKDW� ZLOO� EH� DQQXOOHG� DIWHU� WKH�PHUJHU�� DQG� GHFODUH� D� WLPH�GHSRVLW� IRU�RWKHU�UHODWHG�OLDELOLWLHV�DQG�REOLJDWLRQV�RI�WKH�7UDQVIHUUHG�LI�QHHGHG���$UWLFOH��� 5HSODFHPHQW�RI� VKDUHV� LQ��������7/�QRPLQDO�YDOXH�HDFK�EHLQJ�DYDLODEOH�DQG H[LVWLQJ�RI�(UFL\DV��(JH��*�QH\�DQG�$QDGROX�&RPSDQLHV�ZLWK�QHZ�VKDUHV�KDYLQJ��������7/�QRPLQDO�YDOXH�HDFK�RI�WKH�7UDQVIHUHH�ZLOO�EH�PDGH�LQ�WKH�IROORZLQJ�UDWHV���� VKDUH�ZLWK��������7/�QRPLQDO�YDOXH���)RU ��(UFL\DV�VKDUH�� ���������7UDQVIHUHH�VKDUHV�)RU ��(JH�VKDUH��� � ���������7UDQVIHUHH�VKDUHV�)RU ��*�QH\�VKDUH��� ���������7UDQVIHUHH�VKDUHV�)RU ��$QDGROX�VKDUH�� ���������7UDQVIHUHH�VKDUHV��$V D� UHVXOW� RI� FKDUJHV�DQG� UHSODFHPHQWV�PDGH�ZLWKLQ� IUDPH�RI�DERYH� ��PHQWLRQHG�UDWHV�� IUDFWLRQ� UHFHLSW�ZLOO�EH�JLYHQ�WR�VKDUHKROGHUV�ZKR�DUH�QRW�TXDOLILHG� WR�UHFHLYH�VKDUHV�LQ��������7/�QRPLQDO�YDOXH��,Q�FDVH�RI�SUHVHQWDWLRQ�RI�IUDFWLRQ�UHFHLSWV�DGGHG�XS WR� �������7/�� WKHQ� VXFK� VKDUHV� ZLOO� EH� UHSODFHG� ZLWK� 7UDQVIHUHH� VKDUHV� ZLWK��������7/�QRPLQDO�YDOXH���$UWLFOH��� :LWK�WKH�LQWHQWLRQ�WKDW�����SLHFHV�RI�IRXQGHU¶V�VWRFNV�H[LVWLQJ�LQ�(JH�DQG�������SLHFHV�LQ�*�QH\�ZKLFK�KDYH�ULJKW�WR�REWDLQ�FHUWDLQ�DPRXQW�RI�³1HW�3URILW´�DQG�³/LTXLGDWLRQ�3URILW´�EHIRUH�PHUJHU�FRXOG�FRQWLQXH�WR�KDYH�WKH�VDPH�HQWLWOHPHQW�ZLWKLQ�WKH�VWUXFWXUH�RI� WKH�7UDQVIHUHH� �(UFL\DV��������SLHFHV�RI�QHZ�UHGHHPDEOH�VWRFN�RI�7UDQVIHUHH�ZLOO�EH�LVVXHG�DQG�GLVWULEXWHG�WR�IRXQGHU�VKDUHKROGHUV�RI�(JH�DQG�*�QH\��DQG WKH�$UWLFOH�1R����RI� WKH�$UWLFOH�RI�DVVRFLDWLRQ�ZLOO� EH�PRGLILHG� LQFOXGLQJ�D�QHZ�SURYLVLRQ�LQ�WKLV�UHVSHFW�������� ,VVXHG� DQG� GLVWULEXWHG� ����� SLHFHV� RI� UHGHHPDEOH� VWRFN�ZLOO� EH� GLVWULEXWHG� WR�IRXQGHU�VKDUHKROGHUV�RI�(JH�DQG�*�QH\�LQ�H[FKDQJH�RI�WKHLU�IRXQGHU¶V�VWRFNV�RI�(JH�DQG *�QH\�DFFRUGLQJ�WR�EHORZ���VKRZQ�WDEOH�DFFRUGLQJ�WR�SURSRUWLRQDOLW\�SULQFLSOHV���
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�����$FFRUGLQJ�WR�SURYLVLRQV�RI�$UWLFOH�1R�����RI�WKH�7XUNLVK�7UDGH�&RGH� ���RI�WKH�EDODQFH� DPRXQW� DIWHU� GHGXFWLRQ� RI� ��� RI� OHJDO� UHVHUYH� IXQG� DQG� ���� RI� SDLG�LQ�FDSLWDO�IURP�QHW�SURILW�ZLOO�EH�GLVWULEXWHG�WR�WKH�RZQHUV�RI�UHGHHPDEOH�VWRFN�DV�VKDUH�ERQXV� +RZHYHU��WKH�WRWDO�RI�VKDUH�ERQXV�WR�EH�SDLG�WR�RZQHUV�RI�UHGHHPDEOH�VWRFN�ZLOO�QRW�EH�LQ�H[FHVV�RI����RI�WKH�OHJDO�UHVHUYH�IXQG�GHWHUPLQHG�E\�WKH�SURYLVLRQV�RI�$UWLFOH 1R����� RI� WKH� 7XUNLVK� 7UDGH� &RGH� DQG� LQ� H[FHVV� RI� ����� RI� WKH� EDODQFH�DPRXQW�DIWHU�GHGXFWLRQ�RI��VW�GLYLGHQG�GHWHUPLQHG�E\�WKH�&DSLWDO�0DUNHW�%RDUG�IURP�QHW SURILW��$OVR� LQ� FDVH�RI� OLTXLGDWLRQ�RI� WKH�FRPSDQ\�� VDPH�DPRXQW� �����RI� VKDUH�ERQXV�IURP�OLTXLGDWLRQ�SURILW�ZLOO�EH�JLYHQ�WR�RZQHUV�RI�UHGHHPDEOH�VWRFN��3URYLGLQJ�WKDW�WKH�SURYLVLRQV�RI�WKH�&DSLWDO�0DUNHW�/HJLVODWLRQ�ZLOO�EH�SUHVHUYHG�LQ�WKH�$UWLFOHV�RI $VVRFLDWLRQ�RI�WKH�7UDQVIHUHH��WKLV�SURYLVLRQ�ZLOO�EH�LQVHUWHG�LQ�WKH�GRFXPHQW���



$UWLFOH��� $UWLFOH�1R����RI�WKH�$UWLFOHV�RI�$VVRFLDWLRQ�RI�7UDQVIHUHH�ZLOO�EH�DPHQGHG�WKDW�WKH�%RDUG�RI�'LUHFWRU\�RI�WKH�VXEMHFW�FRPSDQ\�ZLOO�EH�FRPSRVHG�RI�PLQLPXP���DQG PD[LPXP����PHPEHUV���$UWLFOH��� 8SRQ�DQG�IURP�WKH�PHUJHU��DOO�EUDQGV���QDPHV��SDWHQWV��PRGHOV��GUDZLQJV��VSHFLDO�SURFHVVLQJ�SURMHFWV��NQRZ�KRZ¶V��ORJRV��DOO�NLQGV�RI�LQWDQJLEOH�DQG�ULJKWV�DQG�VLPLODU�OHJDO�ULJKWV�DQG�HQWLWOHPHQWV�SRVVHVVHG�E\�WKH�7UDQVIHUUHG�ZLOO�EH�WUDQVIHUUHG�DQG DVVLJQHG�WR�WKH�7UDQVIHUHH�
$UWLFOH���� ,Q UHVSHFW�RI�XQFODLPHG�UHFHLYDEOHV�DQG�SD\DEOHV�ZKLFK�DUH�QRW�GXH�RU�QRW HQWHQWH�RI�WKH�7UDQVIHUUHG�DOO DSSOLFDWLRQV�ZLOO�EH�PDGH�DFFRUGLQJ�WR�SURYLVLRQV�RI $UWLFOH�1R�����RI�WKH�7XUNLVK�7UDGH�&RGH���$UWLFOH���� :KHQ�WKH�WHUPV�DQG�FRQGLWLRQV�ZULWWHQ�LQ�SURYLVLRQV�RI�$UWLFOH�1R�����RI�WKH�7XUNLVK�7UDGH�&RGH�KDYH�EHHQ�UHDOLVHG��UHJLVWU\�UHFRUGV�RI�7UDQVIHUUHG�ZLOO�EH�FDQFHOOHG�E\�UHODWHG�7UDGH�5HJLVWU\�2IILFHV���$UWLFOH���� 7KLV 0HUJHU�$JUHHPHQW�KDV�EHHQ�DUUDQJHG�DQG�SUHSDUHG�DV�RQH�RULJLQDO�FRS\� DQG� VLJQHG� DFFRUGLQJO\� DQG�ZLOO� EH� YDOLG� DQG� HIIHFWLYH� DIWHU� FRQILUPDWLRQ� DQG�DSSURYDO� DW� WKH� *HQHUDO� $VVHPEOLHV� RI� 7UDQVIHUUHG� DQG� 7UDQVIHUHH� E\� WKHLU�VKDUHKROGHUV�� 7KH� %RDUGV� RI� 7UDQVIHUUHG� DQG� 7UDQVIHUHH� ZLOO� EH� OLDEOH� DQG�UHVSRQVLEOH� WR� FDOO� WKH� VKDUHKROGHUV� WR� WKH� *HQHUDO� $VVHPEO\� PHHWLQJ� ZLWKLQ� ��PRQWKV� IROORZLQJ� WKH�FRQILUPDWLRQ�DQG�DSSURYDO�RI� WKH�&DSLWDO�0DUNHW�%RDUG�RI� WKLV�0HUJHU� $JUHHPHQW�� ,I� *HQHUDO� $VVHPEO\� PHHWLQJV� RI� WKH� 7UDQVIHUUHG� DQG�7UDQVIHUHH� FRXOG� QRW� EH�KHOG� DQG� FRQGXFWHG�ZLWKLQ� WKH� VSHFLILHG�SHULRG�� WKHQ� WKLV�$JUHHPHQW�ZLOO�EH�FRQVLGHUHG�DV�YRLG�DQG�QXOO�WRJHWKHU�ZLWK�IROORZ�RQ�FRQVHTXHQFHV���7UDQVIHUHH�
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